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@Zc*]:
ÎZßV»�Z[�b Óx�VÐ CÙ�Z[Æn/VÅ®Z�Z�ágèSìX zZzwÔz�zxÔzÎxX t6,p!ÎZÑ]&�V6,�ì:

ÑiòìX
ÑiòìXCÙÎZwÆ ÑiòÎZÑ]���czèÎZÑ]&{à(%æFN�**&¿�Z[zZáÎZÑ]�XCÙÎZw»�Z[ 10~ zZzw .1

 (10 x 1 = 10 Marks) ��ìX  1a
/V6,�ìX (200) ~WJÎZÑ]�XZk~Ð¤(̈DÃÃð0*õÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ã�zÎ z�zx .2

 (5 x 6 = 30 Marks) �Z]��X 6 CÙÎZwÆa
/V6,� (500) ~0*õÎZÑ]�XZk~Ð¤(̈DÃÃð&ÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ã0*õÎ zÎx .3

(3 x 10 = 30 Marks) �Z]��X 10 CÙÎZwÆa ìX

zZzw
1 : ÎZw

Åz�s#�,X Time Value of Money (i)

»�[ùÎc*Y@*ì? (NPV) ,M6,m,.$z= (ii)

ÆfgZùÆ**xCNX (Long Term Financing) îsæCâ1] (iii)

ÃOW,�äzZáúZïH�? (Capital Structure) uâñÅ�|# (iv)

ÅZlx�X (Dividend) ''''e-e&+ (v)

Åz�s#�,X EPS (vi)

»HÈì? (Financial Stability) âàZPx (vii)

ÅZ�bHpgBbì? "Risk and Return" â1CZOx~ (viii)

Åz�s#�,X (Operating Cycle) 6,|�¡ M (ix)

ùÎc*Y@*ì? (Working Capital Estimation) zgåã»Z0+Zi{ (x)

z�zx
',ÎV~áÐ�äzZà{Ø (5) gz9Åuât»g~ÅXZ�0*õ 50,000 Ãik,z¾á6, 2002 ��á{äJ�g~ .2

qgzfsìX (Cash Inflow) Mæã
Year Estimated Inflows

2002 12,000

2003 15,000

2004 18,000

2005 25,000

2006 30,0001/4



(Interest Rate) 6,�Ûz|#ÅYñÏZzgÑbÎ� (Scrap Value) gz9ÅZh\7 5,000 0*v,�wÆZ!x6,á
»�[ÎNZzgZÐtg{�,�t6,z��.Þ¿ìc*7X Present Value ��Ñ:ìX 10%

»�[ÎNXz»k6,ZÇ^� (Cost of Debt) z»k6,ZÇ^�Æfg=�ÛZë��{�g`fs¥â]Æ�B�ÛnÅÑ�' .3

�wì (7) �]  (Total Period) Yg~K�Xe#-?ç EEFÅÀæ] (Debentures) �e#-?ç EEFk 12% gz9Æ 2,00,000ä
H�ÏZ¤/ (Cost of Debt) �ÛnÅÑ�'

a. Issued at par

b. Issued at 10%  premium

c. Issued at 10% discount

»�[ÎNX (Cost of Equity) v�ÅZr¨ÅÑ�' ABC qgzfs¥â]Æ�B .4

Company wants to issue 20,000 new shares of Rs. 100 each.  The flottion cost is 5 percent.  The

company has paid dividend of Rs. 14 per share in last year and its is expected to grow by 7 percent p.a.

a. In case of new issue of share

b. In case of existing share assuming the market price of share as Rs.160 per share.

Ã,ÐÒy�, (Scope) Zzg�Z],{»g (Nature) Å°p�,ZzgZkÅâÎ (Financial Management) â1CZOx .5

6,¿â^ÉÀ�/õGX (Importance) »gz!*g~̂Æaâ1CZOxÅZÌ .6

Hì?�g`fs¥â]ÐC[ÙX (Pay Back Period) 6,z�ÅZ�Z5Åæ] .7

Project requires a cash outlay of Rs. 20,000 and generates cash inflows in the next 4 years

which as follows;

Rs 8,000, Rs. 7,000,  Rs, 4,000; and Rs. 3,000

»�[ÎNX NPV �g`fs¥â]Æ�B .8

A company requires an initial investment of Rs. 40,000.  The estimated net cash flows are as

follows:

Year Cash Flow

1 7,000

2 7,000

3. 7,000

4. 7,000

5. 7,000

6. 8,000

7. 10,000

8. 15,000

Use  10 percent as the cost of capital
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ZzgZr¨µ545Õä GFH,̂c (Value of the firm) Æ_.�ÛxÅ7 (Net Operating Approach) ,MM6,|ZåZ6,za .9

»�[ÎNX (Equity Capitalization Rate)

A company expects a net operating income of 1,00,000.  It has Rs. 5,00,000 6% Debentures.

The overall capitalization rate is 10%

What if the debenture is increased to Rs. 7,00,000 what will be the effect on the value of the

firm.

zÎx
gz9Æ6ö.$Åy%h+Zg~6,̈g�g;ìXLÆ�Zzg�ÛÎ�ÏÐ¬áµ{Ø×~·� 80,00,000�X .10

øDfs�X (Expected net cash flows after taxes and before depreciation)

Year Cash Flow

1 14,00,000

2 14,00,000

3 14,00,000

4 14,00,000

5 14,00,000

6 16,00,000

7 20,00,000

8 30,00,000

9 20,00,000

10 8,00,000

The rate of cost of capital is 10%
You are required to calculate:
i) Pay-back period
ii) Net Present value at 10 discount factor
iii) Profitability index at 10 discount factor
iv) Internal rate of return with the help of 10% and 15% discount factor

Ð0¬]�g`fs�: (Capital Structure) vÆuâñÆeJ� .11

(Overall Cost of »ZEw�D�ñuâtÅù¦Ñ�' (Market Value) ZzgâgLz= (Book Value) ,-z=
»�[ÎNX Capital)

Source of funds Book Value Market Value Cost of Capital

Debentures 4,00,000 3,80,000 5

Preference capital 1,00,000 1,10,000 8

Equity Capital 6,00,000 12,00,000 13

Retained earning 2,00,000 9

3/4



Zr�̈Å (Value of Firm) Æ_.�g`fs¥â]Åæ�Ð�ÛxÅ7 (Traditional Approach) gzZîÃ̀  .12

»�[ÎNX (Overall cost of capital) ZzguâñÅù¦Ñ�' (Value of Equity Share)7
Net operating income Rs. 1,00,000, total investment Rs. 5,00,000. Assume that
Rs. 5,00,000 debentures can be raised at 6% rate of interest whereas Rs. 4,00,000 debentures
can be raised at 7% rate of interest.
Equity capitalization Rate:
a) If th firm uses no debt 10%
b) If the firm used Rs. 5,00,000 debuntures 11%
c) If the firm uses Rs. 4,00,000 debentures 13%

Ã,ÐÒy�,Zzge-i+&+0*�ÃOW,�ä (Types of Dividend) Å°p�,XZkÅZlx (Dividend) e-i+&+ .13

6,n�!ìw�,X (Factors Affecting Dividend Policy) zZáúZï

�g`fsÄZ**]6,¿âK̂X .14

(Types of Working Capital) zgåãÅZlx (a

(Factors Determining Working Capital) zgåã»ç�äzZáúZï (b

(Operating Cycel) M6,|�¡ (c

///
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